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(1) sing = 2 cost9:ﬁ,tan0:L

7’ 7 26
(2) sinf = 2v10 , cosf = i,tan@z 2v10
7 7 3
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ng = 3 _4 _3
(1) sinf = 5,6089— 5,tan0— 1
.. 3 i _ 3
(2) sinf = 4,cos9——4 , tan 0 = Nid
_3 . _3V3
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sin30" = L. cos30'= V3 tan30' = —L
2 2 /3
ZAHO <HERES>
sin45” = L, cos 45’ = L,tan45°:1
V2 2
sin60°=@,cosGO“’z%,tanGO":\/g
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(1) sin 120° = @, cos 120° = _%, tan 120° = _\/3_
1 1

2) sin135°= ——, cos 135" = ———, tan 135" = —1
@) V2 V2
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0° | 30° | 45° | 60° | 90° | 120° | 135" | 150° | 180°
. 1 | 1 | V3 V3 1 | 1
sin 6 0 5 —\/5 5 1 5 —\/5 5 0
3 1 1 1 1| V3
cos @ 1 5 73 5 0 5 73 5 1
tanf || 0 || 1 |3 V3| -1 L] o
V3 V3
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